1. The length_of a rectangular courtyard is given by the
expressio If the area is given by, 3x? + 4x - 4, find

the width € room. aA=2 b=4Y c=-4
224 dx- Y ac= -2

BErex-dy
IKA2)-2(x +2)

(ﬁx-?h@

2 i ' are
in your family. Some order thefchickep’dinner
or $14)and some order the steak\ldlinner/for If the

total bill was $99) how many peopte ordered each dinner?
X= People. for chicken 1
b People. For steak 5
—14 (Y + W= 0)
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Example 1:

An object is launched aeters per second (m/s)
from - eter tall platform. The equation for the

object's height s at time { seconds after launch is
[s(t) =—4.9t> + 19.6t + 58.8] where S is in meters. When

does the object strik
Root > FACTOR

—H.AL19 bt + B58.]

-4.9 (£*- gt-12)=0 Ry
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Example 2:

Jason jumped off of a cliff into the ocean in Acapulco while
vacationing with some friends. His height as a function of time
could be modeled by the function|h(t) = -16t> + 16t + 480[

where(_as the(time\in(Seconds land@s the/height/in/feet |

a. Howﬁ%ng did it take for Jason to reach his maxwﬁrum height?

A0S —b -l _ ﬁ
X="720- 20t 32

b. What was the highest %omt that Jason reached?

Jeg ~1o(£) +16 &)y
H\%'B -(L\ +8-r'—l8c? 59 48‘1’1&5\_

tJason hit the water after how many seconds?

A -lotT Hot+ 48D .30
o0 A
Y (f‘o( -l (£2- ¢ —20])=q %[5

o ke @ectsc 2Y=0
CE-0) 5(-6)=0
&B) 46y [ O
t-b=0 | <
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Example 3:

One leg of a right triangle exceeds the other leg by four
inches. The hypotenuse is 20 inches. Find the length of

the shorter leg of the right triangle. =
of+b*=c*<

X HN (X) "+ (%) = 20°
A

2 2 = 400
A )

LYE +RU=BY =5
< <K2‘|“-k\k-—i°|‘2§-.::g

(X2 + 1Mk IZ\/\—_{q}):__QQC:“HZ
X(Xﬂ(o\ 120K 1 ) =Q -
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Example 4:

Jocelyn and Kelly built rockets from assembly kits and are going to
launch them at the same time to see whose rocket flies higher. If

Jocelyn's rocket's height, in feet, can be described by t tion
J(x) = -16x° + ZSBQWhlle Kelly's is represented by K(x) = 16x? +

e Who wins the rocket race? (What is the m ight. for both
rockets?) ) E('_,L { )
1@ Be®)  ~le (D + 2%
1024 £+ (290 £t

e After how many seconds does each rocket Iand?GrrJunot%ROD'\' ke
S —lot?4256¢t [+=165¢C] K —lb+24288L
"”ot(t i@,b -0 = (ot( =
o Wha /as the dlf'Ference in time for the two FFerent rocket

reach their respective max helghtif? K
X:: - ’S

<O Y=Z2Y-Fsc  X=—ZE < 9
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